Guide Cylinder/Compact Type

Series MGC
020, 925, 632, 040, 050

Integration of guide rods and a base cylinder
The modified small flange shape facilitates y
mounting of speed controllers. : =

17% weight reduction
Achieved by making the front plate, small flange and

| VR
guide body more compact. i f——/‘ .
age v e =
The modified bracket shape allows the R , %{*fA/
auto switch to be mounted in any position. Ry
Lightweight Space-saving Grease nipple offers
Weight 17% reduction Length 20% shorter easy lubrication for
(In comparison with MGCLB20-100) Height 18% shorter f
(In comparison with MGGIB32) bearlngs.
Air cushion is standard. 7 e
Enables the impact to be absorbed at ," J/ MGJ
the stroke end when the cylinder is | - oy MGP
operated at high speeds. ° ~ y ™\ -Z
= == ——
; T,"I [o—— 1
: - -2
| (&< MGa

™
- heril 1
= i = - GONB20-150
i . 3 e S
A - e AN T MAXPRESS
\- - = @ SNVIC ox e
: ~

=
=]
=]

p
4
| L
\ 5 r
4 = -
[ —— o L=y ==
: : [
:
5
I’ .
4 N »
5 <
p |
g <
5 4
& N

o (N

The modified small

flange shape facili-

tates the mounting Models without

of fittings. CCompact front plate and guide bodD rear plate are

available.

Variations
75 100 St:::m:;;mk:;omm)zso 300 250 300 350 400 I;::g s:(:)ke(;r:) 700 800 900 1000
IR 3 8.0 . —z | vy
L= 19 9@ 9o [ = | PP
2[99 99999 2 | ?RYPY D-J
EEEREAS 2 O O & 4 o - YYYYPYTYY xa
L% [ 9999 9o [ s | L AN L A A A



Guide Cylinder/Compact Type

Series MGC

020, 025, 832, 340, 350

How to Order

Mounting

[BBasic |
E Front mounting flange

MGCIL|B]32] |-[100/-[R]-[M9BW]_ |-

Guide Cylinder

(Compact Type)

Bearing type
Ball bushing bearing

Made to Order
Refer to page 495 for details.

Auto switch mounting bracket "

Note) This symbol is indicated when
the D-A90 or M9 type auto

Bore size switch is specified.
ol 20 This mounting bracket does not
mm apply to other auto switches
~— f
25 [25mm|  Portthread type - (D-C70 and H7, etc.) (Nil)
32 |32 mm Nil |M5x08 Cylinder stroke (mm)
40 40 mm Rc Refer to “Model/Stroke” Auto switch ———e Number of
50 |50 mm TN NPT on page 495 Rear plate e—! Nil Without auto switch auto switches
TF G - P! . (Built-in magnet) Nil 2 pcs.
* For bore size 20 and m W!thout rear plate * For applicable auto switch S 1pc.
25, M5 x 0.8 is only R [ With rearplate models, refer to the below n |0 pes.
available. table.
Applicable Auto Switches/Reter to pages 1893 to 2007 for further information on auto switches.
£ Load voltage Auto switch model Lead wire length (m)
S . . Electrical| 5| Wiring Applicable bore size Pre-wired "
> | Special function 2| (output 05|13/ 5 [None Applicable load
[= eny | 8 (Output) DC AC ﬂZOIo.ﬂSO 020, 025 zgz [ 040, 050 i || @) | @ [y |meeter
£ Perpendicular In line
Swire NPN) 1 MONV MON ® 0O — O Ic
Grommet| |3-wire (PNP) ’ MOPV MoP o |@el@|O|—] O |circui
S ] M9BV M9B ® 0/ O|—| O
= 2-wire 12V -
H Connector — H7C o — 000 —
.g oi i indicat 3-wire (NPN) vy MONWV MONW ® 0 e O —| O C | el
iagnostic indication P , _ — circuit | Relay,
; (2-color indication) £ [-wire (PNP)[24V| ~ | MOPWV MoPW ® 0 0 0 O PLC
s 2-wire 12V M9BWV M9BW ® ® 00— O —
= ] Grommet| ~ [3-wire (NPN) MONAV* MONA** o |o]e]o]—] © ic
5 Water resistant 3wire (PNP) 5V, 12V WOPAVF MOPA™ ololeo = o circuit
o | (2-color indication) . — — ™
2-wire 12V M9BAV** M9BA** O|0|®@|O0|—| O —
P e farput 4-wire (NPN) 51,12V — H7NF ®|—|@®O|—| O |[Ccircui
3-wire IC
§<NPNequwalenn 5V - AgeV A96 ® —1® —— — |ocut| —
E=
L 100V | A93V A93 o — 00 — —
H Grommet— —
3 [Nore| 100 V or less| A9OV A90 ® | — (@ —|—| — |(Ccircut
2 [Yes| 1oy [100V. 200V — (B54) [B54 (@ |— | @|@|—| — fol
g None| 2-wire |24V 200Vorless| — (B64) ‘ B64 O |— @ — | —| — — :Lacy'
3 Yes — — C73C o —®o0/0 —
o Connector — —
Nong 24Vorless| — c8oC ® —©® ® ® — |Ccicut
DBt eatony (Grommet| Yes — — — |(B5sw)]  B59W e —®o—|—| — | —

«+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.

* Lead wire length symbols: 0.5 m -----e-. Nil
im-

(Example) MONW
M (Example) MONWM
L  (Example) MONWL
Z  (Example) MONWZ
N  (Example) H7CN

3m-
5m-
None -

+ Solid state auto switches marked with “O” are produced upon receipt of order.

A\ cCaution

« Since there are other applicable auto switches than listed, refer to page 507 for details.
+ For details about auto switches with pre-wired connector, refer to pages 1960 and 1961.
* The D-A90J(V)/M9I(V)/M9OTIW(V)/MILIA(V) are shipped together, (but not assembled).

(Only switch mounting brackets are assembled at the time of shipment.)

494

When using auto switches shown inside ( ), stroke
end detection may not be possible depending on
the One-touch fitting or speed controller model.
Please contact SMC in this case.




Symbol

Guide Cylinder/Compact Type Series MGC

Model/Specifications
Model/Stroke
Model (Bearing type) Bo(rn?rii)ze Standard stroke (mm) Long stroke (mm)
20 75, 100, 125, 150, 200 | 250, 300, 350, 400
MGCM 25 350, 400, 450, 500
(Slide bearing) 32 350, 400, 450, 500, 600
MGCL 40 |75 100,125,150 350, 400, 450, 500, 600
(Ball bushing bearing) 200, 250, 300 700, 800
50 350, 400, 450, 500, 600
700, 800, 900, 1000

+ Intermediate strokes and short strokes other than the above are produced upon receipt of order.

Specifications
Model MGCOC20 | MGCOD25 | MGCOD32 [ MGCOD40 | MGCOD50
Base cylinder CDG1BA[Bore size|[Port thread type|—[ Stroke |—[Auto switch
Symbol Bore size (mm) 20 ‘ 25 ‘ 32 ‘ 40 ‘ 50
Air cushion Action Double acting
Fluid Air
Proof pressure 1.5 MPa
operating pressure 1.0 MPa MGJ
Made to - e Minimum operating pressure 0.15 MPa (Horizontal, No load)
Made to Order: Individual Specifications ‘Ambient and fluid temperature 1010 60°C MGP
(For details, refer to page 509.) -
— Piston speed 50 to 750 mm/s
‘ Symbol ‘ Specifications ‘ - - - MGP
-X440 ‘ With piping ports for grease ‘ Cushion Air cushion
Made to Order Base cylinder lubrication Non-lube MGPW
(For details, refer to pages 2009 to 2152.) Stroke length tolerance §3mm
Symbol Specifications Non_rotaﬁ"g" Slide bearing +0.07° +0.06° +0.06° +0.05° +0.04° MGQ
-XB6 | Heat resistant cylinder (10 to 150°C) accuracy Ball bushing bearing| ~ +0.06° +0.05° +0.04° +0.04° +0.04°
-XB13 | Low speed cylinder (5 to 50 mm/s) Piping port size (Rc, NPT, G)2 M5 x 0.8 1/8 1/4 MGG
-XC4 | With heavy duty scraper «1 When the cylinder is retracted (initial value), the non-rotating accuracy without loads or
-XC6L1 | Made of stainless steel deflection of the guide rods will be below the values shown in the above table as a guideline. m
-XC8 | Adjustable stroke cylinder/Adjustable extension type #2 For bore sizes 20 and 25, M5 x 0.8 is only available.
-XC9 Adjustable stroke cylinder/Adjustable retraction type MGF
-XC11 | Dual stroke cylinder/Single rod
-XC13 | Auto switch rail mounting style Theoretical Output MGZ
-XC22 | Fluororubber seal
-XC35 | With coil scraper : out IN ) MGT
-XC37 | Larger throttle diameter of connecting port - - - -
"XC56 | With knock pin holes )| (o) [t (P 02]03]0 4Ope;a;ng p(;e;sureo(;ﬁ Pa)o 80910
-XC73 | Built-in cylinder with lock (CDNG) = £ = = S = 2 = =
-XC74 | With front plate for MGG o g |OUT| 314 | 628| 942| 126 | 157 | 188 220| 251 263| 314
-XC78 | Auto switch mounting special di at stroke end IN 264 | 52.8| 79.2| 106 | 132 | 158 | 185| 211 | 238 | 264
-XC79 | Tapped hole, drilled hole, pin hole machined additionally 25 10 OuUT | 491 98.2 | 147 196 | 246 295 | 344 | 393 | 442 | 491
IN 412 | 824|124 165 | 206 | 247 | 288 | 330 | 371 | 412
32 12 ouT 804 | 161 241 322 | 402 482 | 563 | 643 | 724 | 804
IN 691 | 138 |207 276 | 346 | 415| 484 | 553 | 622 | 691
40 16 OUT | 1260 |252 |378 504 | 630 | 756 | 882 | 1010|1130 | 1260
IN 1060 (212 |318 424 | 530 | 636 | 742 | 848 | 954 | 1060
50 20 OUT | 1960 (392 (588 784 | 980 | 1180 | 1370 | 1570 | 1760 | 1960
IN 1650 |330 |495 660 | 825 | 990 | 1160 | 1320 | 1490 | 1650

Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm?2)

495

XO

5|5



Series MGC

Weight
(kg)
Bore size (mm) 20 25 32 40 50
% LB type (Ball bushing bearing/Basic) 1.04 1.55 2.07 3.32 6.45
.g LF type (Ball bushing bearing/Front mounting flange) | 1.7 2.35 3.02 5.02 8.58
-2 MB type (Slide bearing/Basic) 1.02 1.51 2.03 3.26 6.35
@ | MF type (Slide bearing/Front mounting flange) | 1.69 2.32 2.98 4.96 8.48
Additional weight with rear plate 0.2 0.25 0.34 0.58 1.04
Additional weight per each 50 mm of stroke | 0.14 0.17 0.25 0.4 0.61
Additional weight for long stroke 0.01 0.01 0.02 0.03 0.06
Additional weight with bracket 0.011 0.018 0.019 0.031 0.061
Moving Parts Weight
——————————————————
(kg)
Bore size (mm) 20 25 32 40 50
Moving parts basic weight 0.34 0.53 0.69 1.2 2.45
Additional weight with rear plate 0.2 0.25 0.34 0.58 1.04
Additional weight per each 50 mm of stroke| 0.11 0.14 0.2 0.33 0.51

Allowable Kinetic Energy by Air Cushion Mechanism

R: Rod end, H: Head end

Calculation: (Example)
MGCLB32-500-R
(Ball bushing bearing/Basic, 32/500 st., with rear plate,
with bracket)

« Basic weight -+

+ Additional weight with rear plate
+ Additional stroke weight -

- 2.07 (LB type)
-0.34

- 0.25/50 st

* Stroke - - 500 st
+ Additional weight for long stroke ------ 0.02
+ Additional weight with bracket - - 0.019

2.07 +0.34 + 0.25 x 500/50 + 0.02 + 0.019 = 4.95 kg

Calculation: (Example)
MGCLB32-500-R

* Moving parts basic weight ---- -0.69

+ Additional weight with rear plate ------ 0.34

« Additional stroke weight - - 0.2/50 st.
* Stroke - - 500 st.

0.69 + 0.34 + 0.2 x 500/50 = 3.03 kg

Bore size Effective cushion length Allowable kinetic energy
(mm) (mm)
20 R:7,H:7.5 R:0.35, H: 0.42
25 R:7,H:7.5 R: 0.56, H: 0.65
32 7.5 0.91
40 8.7 1.8
50 11.8 3.4

High kinetic energy generated by large loads and high speed operations can be absorbed by
compressing air at the stroke end thus preventing shock and vibration being transmitted to the
machine. The air cushion has not been designed to control the piston speed in the end regions of

the stroke. The load kinetic energy can be obtained by the following equation:

~——Va

g — ]

Ek=M;7ml)2 V =1.4Va

Ek: Kinetic energy (J)

M:  Weight of the driven object (kg)

m:  Weight of moving parts of cylinder (kg)
V:  Maximum speed (m/s)

Va: Average speed (m/s)

Note) Set Va so that rush speed into cushion 'V should not exceed 0.75 m/s.

496

T
P = 0.5 MPa
70 250
50
240
S 932
=3
g
£ 925
= 10
8
b= 220
5 5
2
1
50 100 200 500 750
Rush speed into cushion v (mm/s)

Also, selection can be made by using the graph
above.
Example)
Find the maximum load mass when using a
cylinder with @32, stroke 500 mm, with rear
plate as a lifter at an average speed of
Va 300 mm/s.
Rush speed into cushion 'V is as follows:

U = 1.4 x 300 = 420 mm/s.

Extend upward from 420 mm/s on the abscissa
in the graph until crossing at the line of bore
size 32. Extend leftward from the intersection to
find the total load weight 10 kg.

Subtract the moving parts weight of 3.08 kg
from this. (For moving parts, refer to “Moving
Parts Weight”.) 6.92 kg will be obtained, which
is equal to the maximum load weight.

A\ Caution

In a horizontal application, pay attention to that the
load weight should not exceed the allowable end
load given on pages 396 to 400.



Air-hydro

Guide Cylinder/Compact Type Series MGC

Low pressure hydraulic cylinder of 1.0 MPa or less

Through the concurrent use of the CC series air-hydro unit, it becomes
possible to operate at a constant or low speed or to effect an intermediate
stop, just like a hydraulic unit, while using pneumatic equipment such as a

valve.

macH ‘Bearing IypeH

i _,HBore sizeHPon thread lypeH Stroke ‘- With/Without

rear plate

Air-hydro

Specifications

Bore size (mm)

20, 25, 32, 40, 50

Action Double acting
Fluid Turbine oil
Proof pressure 1.5 MPa

i perating pi 1.0 MPa

0.18 MPa (Horizontal, No load)

[4

Piston speed

15 to 300 mm/s

Cushion None

Ambient and fluid temy +5 to 60°C

M . Basic
ounting Front mounting flange

# For specifications other than the above, refer to page 495.

# Auto switch can be mounted.

Dimensions (Dimensions other than the below are the same as standard type.)

Front mounting flange

o

®

7 2xP
IRAT | l(Re.NPT.G]
IHETE §
|- ‘[ @ 1
- e -
R
Y + Stroke
(mm)
Bore size (mm) P R Y
20 1/8 14 79
25 1/8 14 79
32 1/8 14 81
40 1/8 15 89
50 1/4 16 104

Series Applicable to Operating Environments that Do Not Accept Copper

* Copper and Fluorine-free --- Series 20
# For details, refer to the SMC website.

497

= (== SI=E(S|I=S(NS| =
DD D =A== =ik
- | N| ™ o|o|=|o ==

XO

5|5



Series MGC

Slide Bearing
Allowable End Load and Deflection

MGCM[ 120- Stroke |-R MGCM[_125- Stroke |-R MGCM[ 132- Stroke |-R
T T 7] | | | [ ) I
|
5 | IV | | 28 —— 28 !
| (Slide bearing type) | (Slide bearing type) (Slide bearing type)
| |
! _ . L e 3, t—| 2 ! |
£ £ £
£ l E E
| > } > >
s | c | c
21 1 i £ | £
1] | | 1] | 1]
9 X I 2 2
E’ ,de St: Stroke (mm) g | St: Stroke (mm) g ; St: Stroke (mm)
(5
| - =) L
RN |
/—% | 100st
o 7ost I o \
0 10 20 30 40 50 0 20 40 60 70
Allowable end load F (N) Allowable end load F (N)

4

(Slide bearing type)

St: Stroke (mm)

Deflection’Y (mm
T
%
|-

»———3',_ 200st m;

100st .
9 20 0 &0 50 100
Allowable end load F (N)
MGCM[150-Stroke -R
[ | T [ [ ]
| ss — -
| _ 5 N X N (Slide bearing type)
[S 02 |
E a0
PP D
c 3l
o |
s B\
o , ot !
3 2 St: Strok
0 T : Stroke (mm)
e gpost— |
200 55y ]
0 20 40 60 80 100 120 140 160 180 190
Allowable end load F (N)
- b

498




Guide Cylinder/Compact Type Series M GC

Ball Bushing Bearing
Allowable End Load and Deflection

MGCL[]20- Stroke -R MGCL[]25- Stroke |-R MGCL[ ]32- Stroke -R
[ ) T T I I [ T T
(Ball bushiné bearing typeﬂ 2.4 ! ’ ‘ I L | ‘ 2 4‘ | 1 [
16| - ‘ i (Ball bushing bearing type)! | " (Ball bushing bearing type)
| | | I
‘ % /\ | | |
| 1 5 ‘ | s
| I F
) | | P
£ ° L E £
E § E E £ 0§
> 1 ‘ > | >
8 = } s s 5
s /N 8 T
T ! | ® 1 | & 1 X |
2 | St: Stroke (mm) |
[a) St.1 Stroke (mm) } o dj} St: Stroke (mm) | o é{} ‘ (mm)
| 7 ! 1 Y, |
| i | N |
| ost | | |
/o | g SN~ 4N
i % L~ | toost —é‘bl | 100st
o= | ﬁ | o i 755t | I | e MGJ
0 10 20 30 40 45 | 0 10 20 30 40 50 55 | 0 20 40 60 80 |
Allowable end load F (N) Allowable end load F (N) \ Allowable end load F (N) “ _|VZ|GP
MGP

MGCLL140-Stroke -R

2.4

=
=
-]

[ [ 1

|
(Ball bushing bearing type)

=
D
=]

2

=
D
D

St: Stroke (mm)

Deflection’Y (mm)

=
D
T4

.&; \
e’
N
&
G002
5008t —
| 400st |
I i - B

100st

o
o
n
o
e
o

=
D
N

60 80 90
Allowable end load F (N)

—
\
\
\

=
=
=]

MGCL[ ]50-[ Stroke -R
[
2.6 - - ‘
(Ball bushing bearing type)
€ 1¥1oocm
g 2
Nt 900st
>
5 |2
B \ St: Stroke (mm)
= 1 = =
ey
500st
C—= 1 a00st ==
— — 300t 200st 100st
=S ]
OO 20 40 60 80 100 110
Allowable end load F (N)

5|5

X
499



Series MGC

Slide Bearing
Allowable End Load and Deflection

MGCM[120- Stroke -R
"' T

|
P E—

! [

|(Siide bearing type)

|

14

MGCM[125- Stroke -R

——

I

1 {
(Slide bearing type) |

€ T I
£ & £
£ £ |
z vg > |
S 15 |
S 05 B |
2 2
N b |
| St: Stroke (mm) St Stroke (mrln) ‘
200 / ! |
L ||
\ ‘ i
| 100st | | I
| 1 — 100st |
—_— |l |
‘ ] | rf::: 755t i |
% 1 20 3 4 % 20 30 40 50 |
Allowable end load F (N) Allowable end load F (N) I
MGCM[J40-Stroke R - - -
N ) (Slide bearing tﬂ/pe)
?’009 ! |
< 15 o ‘, |
> x| | |
5 19 ‘/;\ | |
B b X |
Q
i~ Ny
0.5 __.e_ngéL"""’- 3
 —— T 300st St: Stroke (mm)
— 200st
i 100si 1
o) 20 40 60 80 100

Allowable end load F (N)

MGCM[50-Stroke -R

: -

2.75[

2.5]

(Slide bearing type)

)
QWA

Deflection’Y (mm)
o

>

Allowable end load F (N)

208t
08 E—T— T 30bst ot St: Stroke (mm)
= —
GD 20 40 6 80 100 120 140 160 180 190

500

[ Stroke l-R

Deflection Y (mm)

MGCM[132-
I

| |

I I
(Slide bearing type)

200st i
100st

St: Stroke (mm) .

Allowable end load F (N)

40 60 70




MGCL[]20- Stroke -R

Ball Bushing

Guide Cylinder/Compact Type Series M GC

Bearing

Allowable End Load and Deflection

MGCL[125- Stroke -R

MGCL[ 132 Stroke -R

—— I
| | i
(Ball bushing bearing type) 1.2 | : | Fot
0.8 f f /\(Ball bushing bearing type)
1 T
B €
E 3 £
> os—$ =
o o
8 8
2 d 2 o0s
o
St: Stroke (mm)
/ st
10—
00 10 20 30 40 45 O0 10 20 30 40 50 55
Allowable end load F (N) Allowable end load F (N)

Deflection Y (mm)

1.2

T T T
(Ball bushing bearing type)

%

g
o
og

-

2008t

= oost
_____,___>|

St: Stroke (mm)

o]

20 40 60
Allowable end load F (N)

80

MGCL[40-[ Stroke -R

2 ]
(Ball bushing bearing type)
£ ! -
£
>
f=
8 NG
8 05 ——
@
= t St: Stroke (mm)
300 — g0t ——__|
100s| —_—
0, 80 90

40 60
Allowable end load F (N)

MGCL[]50- Stroke -R

1.3 |

| I I
T % 1000st| (Ball bushing bearing type)
£ 1R
z N
S | e®
8 2
5 05 S L
° ///‘i t St: Stroke (mm)
_’———-‘—"% t |
0;__’_ —200st _mm..:I:_;_‘
60 100 10

80

Allowable end load F (N)

501

q
NS =
[
==

=
D
-]

=
=
-]

==
oD | D
Do

=
<D
-

E

=
=
=]

XO

5|5



Series MGC

Allowable Eccentric Load

Slide Bearing/ Ball Bushing Bearing/
MGCM[I[-[ Stroke |-R MGCL[ [ -[ Stroke |-R
— [ ™ —
800} : ! : 800;
L |
: W] 700 P=0.5MPa 700 _P=0.5MPa
! ll_ |
| |
< 7 Z 600|MGCMC]50-[1-R S 600MGCLOS50-00-R
Al 2 2
3 3
l | S 500 N O 500
I 2 Q2
€ €
| 3 3
g 400 g 400MGCLO40-0-R -
o  MGCMC]40-00-R | °
o | |2
[} | [}
| § 300~ ——{ §%00 4=
< \ <
32.0R N\ I
200 — —— 200 +
\ %C‘
MGCME&ZS—EI-R‘ MGCL25-00-R |
100 ! | 100y -
MGCML]20-C1-R — 1
| | I | I
ol | | ok S I -
0 50 100 150 200 0 50 100 150 200 |
Eccentric distance from center of cylinder Eccentric distance from center of cylinder |
to load center of gravity L (mm) | to load center of gravity L (mm) |

(Set the maximum allowable load so that it does not  (Set the maximum allowable load so that it does not
exceed the following percentages of the theoretical ~ exceed the following percentages of the theoretical
output: 40% for 820, 50% for 825 and @32, 55% for  output: 40% for 820, 50% for 825 and 232, 55% for
240 and 60% or less for 850, respectively.) 240 and 60% or less for 850, respectively.)

502



Construction: With Rear Plate

| gzosssg

@3 2(He® 66 @3

W

Guide Cylinder/Compact Type Series MGC

1,

W~

gj£<i\@

B’
Front mounting flange

q
NS =
[
==

View B-B’ Slide bearing Long stroke View A-A’ MGP
Component Parts Component Parts
No. Description Material Note No. Description Material Note MGPW
1 | Rod cover Aluminum alloy Clear hard anodized 31 | Felt Felt
2 | Tube cover Aluminum alloy Clear hard anodized 32 | Holder Stainless steel MGQ
3 | Piston Aluminum alloy Chromated 33 | Type C retaining ring for hole | Carbon tool steel Phosphate coated
4 | Piston rod Carbon steel |Hard chrome plated (020, 025 are stainless steel. 34 | Bracket Stainless steel MGG
5 ing Bearing alloy 35 | Nipple — Nickel plated
6 | Cushionring A | Aluminum alloy Anodized 36 | Hexagon socket head cap screw | Chromium molybdenum sieel|  Niickel plated | For cylinder mounting
7 | Cushion ring B | Aluminum alloy Anodized 37 | Hexagon socket head cap screw | Chromium molybdenum steel|  Nickel plated | For argelsmal flange mounfing m
8 | Magnet — 38 | Guide bolt Chromium molybdenum steel | Nickel plated | For front plate mounting
9 | Seal retainer Rolled steel Nickel plated ‘thing for long stroke 39 | Hexagon socket head cap screw | Chromium molybdenum steel | Nickel plated | For rear plate mounting MGF
10 | Cushion valve Rolled steel Electroless nickel plated 40 | Hexagon socket head cap screw | Chromium molybdenum steel | Nickel plated | For bracket mounting
11 | Valve retainer Rolled steel Electroless nickel plated 41 | Rod seal NBR MGZ
12 | Lock nut Rolled steel Nickel plated 42 | Piston seal NBR
13 | Wear ring Resin 43 | Tube gasket NBR ‘MGT
14 | Rod end nut Rolled steel Nickel plated 44 | Valve seal NBR
15 | Cushion seal A Urethane 45 | Valve retainer gasket NBR
16 | Cushion seal B Urethane
17 | Piston gasket NBR Replacement Parts/Seal Kit
18 | Cushion ring gasket A NBR Bore size (mm) Kit no. Contents
19 | Cushion ring gasket B NBR 20 CG1A20-PS
. : 25 CG1A25-PS Set of nos. above
20 Hea_d cover Alum!num alloy | Clear hard ano.dlzed \ For long stroke 32 CG1A32-PS @, @, @, @4, @®
21 | Cylinder tube Aluminum alloy | Hard anodized 40 CG1A40-PS
22 | Guide body Aluminum alloy Clear anodized - * Seal kit include: to @. Order the seal kit, based on each bore size.
23 Small flange Rolled steel Nickel plated For ba§|c * Seal kit includes a grease pack (10 g). Order with the following part number
Large flange For front mounting flange when only the grease pack is needed.
24 | Front plate Rolled steel Nickel plated Grease pack part number: GR-S-010 (10 g)
25 | Rear plate Cast iron Platinum sliver
2 Slide bearing Bearing alloy For slide bearing A caution

Ball bushing bearing

For ball bushing bearing

Carbon steel

Hard chrome plaled‘ For slide bearing

27 | Guide rod High Quenched, hard chrome plat “} For ball bushing bearing
28 | End bracket Carbon steel Nickel plated
29 | Washer Rolled steel Nickel plated
30 | Spring washer Steel wire Nickel plated

Note) @5, 39 are not required for without rear plate

When base cy s with bore sizes of 220
through 940, grip the double flat part of either the tube cover or the
rod cover with a vise and loosen the other side with a wrench or
an adjustable angle wrench, and then remove the cover. When re-
tightening, tighten approximately 2 degrees more than the original
position. (Cylinders with 950 or larger bore sizes are tightened
with a large tightening torque and cannot be disassembled. Please
contact SMC when disassembly is required.)

503



Series MGC

Dimensions
—

Basic: With rear plate
MGCOBOO-0O-R

N 2 x O through

4 x oF through, counterbore oG

Bottom side 4 x H

Bracket
(Refer to the below table.)

Rear plate

_ & sl
i 1
7 H B & T (mn
0 fﬂ f‘@g 2xP L&
U > =lvla (Rc, NPT, G) @
NZIIN . @‘ M 9 l
[ Il R |
- — (L
) | ——
1 AA|_| AL AP*
J X Y + Stroke AB* V*
Z + Stroke
AC 8 x AF
w
<
e B I
View A-A’
(mm)
Bore size Stroke range A | AA |AB*| AC AF AP*| B c D F G H
(mm) (mm)
20 75,100, 125,150,200 | 75| 11 1 6.5 M5 x 0.8 depth 10| 6 22 | 106 |15 45 90 | 5.4|95depth6| M6 x 1 depth 10
25 80| 14 | 13 | 75 M6 x 1 depth 12| 6 27 | 120 |[17.5| 45 | 103 | 6.8 11depth8 | M8 x 1.25 depth 14
32 751’51:02’(355 85| 14 | 13 | 75 M6 x 1depth 12| 6 | 32 | 135 |17.5| 50 | 118 | 6.8 11depin8 | M8 x 1.25 depth 14
40 250, 300 95| 17 | 16 |10 M8x1.25depth 16| 9 | 37 | 160 |22.5| 50 | 140 | 8.6 |14depth 10| M10x 1.5 depth 18
50 130 23 | 19 |10 M10x1.5depth20| 9 42 | 194 |25 80 | 170 [ 10.5 |17 depth 12| M12 x 1.75 depth 21
B‘;rrrfmsgze 1|J|K[L|M|N o P3| q [ R Ut | vE | wWE[WH|{We| X | Y|z
20 25 |44 | 60| 80| 38 | 25 | M6x1 |M5x0.8| 12 | 12 | 26 82| 39 | 40 |23 | 30°| 39 | 71 | 140
25 30 |52 70| 95| 46 | 32 M6 x 1 M5x0.8| 12 | 12 | 31 98 | 46 | 46 |25 30°| 46 | 71 | 153
32 35 |60 80| 105| 50 | 32 M6 x 1 12 | 12 | 38 110 | 53 | 52 |28.5| 25°| 46 | 73 | 161
40 40 |70 95|125| 60 | 38 | M8x 1.25 13 | 12 | 47 132 | 63 | 62 |33 20°| 56 | 80 | 188
50 45 [825| 115|150 | 75 | 50 | M8 x 1.25 14 | 14 | 58 158 | 78 | 75 [40.5| 20°| 67 | 92 | 241
Without Rear Plate Long Stroke Bracket Mounting Stroke
Bore size z Bore size | Stroke range Bore size Bracket
(mm) (mm) (mm) (mm) mounting stroke
20 119 20 250 to 400 20 100 st or more
25 131 25 350 to 500 25 125 st or more
32 136 32 350 to 600 32 150 st or more
40 156 40 350 to 800 40 200 st or more
50 202 50 350 to 1000 50 250 st or more

Note 1) Dimensions marked with “+” are not required for without rear plate.

Note 2) For bore size 20 and 25, M5 x 0.8 is only available. Rc, NPT and G ports are available for bore size 32 or greater.

504



Guide Cylinder/Compact Type Series MGC

Dimensions
—
Front mounting flange: With rear plate
MGCOFOO-O-R
N 2 x O through Bracket Rear plate
o & — (Refer to the below table.) @7 &
o 5| )
; )
o ; [
e i (E s|x|- ] o ; 5% Tj( 2
; T4
‘\ ‘ B _B l %
1 o K LS el W .4
4 x 0AK hole i
1 XoRRTOE AA AB* AP
J X Y + Stroke Vv
Al Z + Stroke
AJ
AG
[ o i AN MGJ
& ‘ _
[ Cutout = < MGP
3 S window b -Z
o MGP
For 4 x AO o T
View A-A’ Mounting dimensions MGPW
MGa
MGG
e
Bore size Stroke range @ o
(mm) (mm) A | AA |AB*|AG|AH | Al | AJ [AK | AL |AM | AN | AO |[AP*| B | | JI K| L | M|N MGF
20 75,100, 125,150,200| 75| 11 | 11 |105|120| 75| 90| 66| 9 | 55 |110| M6 | 22 | 106 | 25 |44 60| 80| 38 | 25
25 80| 14 | 13 | 120|136 | 84| 100 | 9 9 | 65 |125| M8 | 27 | 120 | 30 |52 70| 95| 46 | 32 MGZ
32 75, 100, 125, 150 85| 14 | 13 | 134|150 | 92| 108 | 9 9 | 75 | 140 | M8 | 32 | 135 | 35 |60 80| 105| 50 | 32
40 200, 250, 300 95| 17 | 16 | 160|176 | 110 125| 9 | 12 | 85 | 165 | M8 | 57 | 160 40 |70 | 95| 125 60 | a8 |MGT
50 130 | 23 | 19 | 190|210 | 115|135 |11 12 | 95 | 200 |[M10| 42 | 194 | 45 |82.5| 115|150 | 75 | 50
B‘;’ﬂfr:‘)m ) PYe? | Q (R | S| T |uU*|ve| we|wWH Wo|X|Y]|2Z
20 M6 x 1 M5 x 0.8 12 | 12 | 26 | 12 82| 39 | 40 |23 30°| 39 | 71 | 140
25 M6 x 1 M5 x 0.8 12 | 12 | 31 13 98 | 46 | 46 |25 30°| 46 | 71 | 153
32 M6 x 1 1/8 12 | 12 | 38 | 16 | 110 | 53 | 52 |28.5| 25°| 46 | 73 | 161
40 M8 x 1.25 1/8 13 | 12 | 47 | 20 | 132 | 63 | 62 |33 20°| 56 | 80 | 188
50 M8 x 1.25 1/4 14 | 14 | 58 | 25 | 158 | 73 | 75 |40.5| 20° | 67 | 92 | 241
Without Rear Plate Long Stroke Bracket Mounting Stroke
Bore size Bore size | Stroke range Bore size Bracket
z R|Y :
(mm) (mm) (mm) (mm) mounting stroke
20 119 20 250 to 400 14 | 79 20 100 st or more
25 131 25 350 to 500 14| 79 25 125 st or more
32 136 32 350 to 600 14 | 81 32 150 st or more
40 156 40 350 to 800 15 | 89 40 200 st or more
50 202 50 350 to 1000 16 | 104 50 250 st or more

Note 1) Dimensions marked with “+” are not required for without rear plate.

Note 2) For bore size 20 and 25, M5 x 0.8 is only available. Rc, NPT and G ports are available for bore size 32 or greater.

505

XO

5|5



Auto Switch Proper Mounting Position (Detection at Stroke End) and Its Mounting Height

Series MGC

Auto Switch Mounting

D-M9(V)/MOTIW(V)

D-M9LIA(V)

D-A9(V)

D-H7
D-C7/C8

D-G5/K5
D-B5/B6

D-G7/K7
D-B7/B8

Auto Switch Proper Mounting Position

=Hs

T
nt

£

2:) 19

i

. |

=
N

\e

_/T% |

p
D E

He
I

i
W
b

) (=

Auto switch

~Hs

i

il

4 A

i
it

i
[k

7

SRR [1®

|

i

H '

D
D-A9CI(V)

B

20
(28)

20
(28)

21
(29)

23
(32)

Auto

switch
model | D-MOCI(V)
D-MICIW(V)
D-M9CIA(V)

Bore size

(mm) A | B
24
20 33 (32)
24
25 33 (32)
25
32 34 (33)
27
40 39 (36)
32
50 46 (44)

28
(40)

Auto switch

D-B5/B6

D-G5/K5

S
B
@ Auto switch
D-B7/B8
D-G7/K7
(mm) Auto Switch Mounting Height

D-G59F Auto DMecT D-B7CY/B80 D-GSLI/K59
D-G5LIW | |\ switch| b naary | B-MOLY D-B73C D-G5LIW
D-K59W model| o \orwv|D-ASC] | p-c73c |D-B8OC D-K59W
D-G5BA -CTIC80 D-G79/K79 D-BSLI/B64
D-G50] D-WJAV | p-H7Ll  (D-C80C | k79C D-B5OW
D-K59 D-A9LIV | B-HZTW D-H7C_ D-G5BA
D-G5NT | |Bore size D-H7BA D-G5NT D-G59F
A | B | |mm) Hs Hs Hs Hs
25 (;‘% 20 25 245 27 27.5
25 (;ff) 25 | 275 | 27 295 30
26 (;g) 32 31 305 | 33 335
31 (;g) 40 355 | 35 375 38
38 (gg) 50 | 41 405 | 43 435

#(): Values for long stroke, double rod
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.

506




Minimum Auto Switch Mounting Stroke

Auto Switch Mounting Series MGC

n: No. of auto switches (mm)

No. of auto switches mounted

Auto switch model

A 15
3.5

£

T

B

The auto switch proper mounting position is 3.5 mm inward

from the switch holder edge.

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the
auto switch and lead wire do not interfere with each other.

D-MoCI Note 2) Note 2)
D-M9OIW Less than 20 stroke Less than 55 stroke

D-M9CJA Less than 20 stroke Note 2) Less than 60 stroke Note 2)
D-A90 — Less than 50 stroke Note 2)

Note 2) Minimum stroke for mounting auto switches in the other mounting styles mentioned in note 1.

507

Auto switch model . 2 pcs. “n” pcs.
s Different surfaces Same surface Different surfaces Same surface
(n-2) _
20 +35 —~ 55+35(n-2)
D-M9C] 5 15 Note 1) 40 Note 1) 2.4 6?-») (=234 5-)
(n-2) -
20 +35 —~ 55+35(n-2)
D-M9CIW 10 15 Note 1) 40 Note 1) =24, e?--) (n=2,3,4,5-)
(n-2) _
25+35 —~ 60+35(n-2)
- Note 1)
D-M9TJA 10 25 40 Note =24, s?-») (n=2,3,4,5-)
(n-2) _
15 + 35 50 + 35 (n —2)
- Note 1)
D-A9C) 5 15 sofee (n=2,4,6-) (n=2,3,4,5-)
(n-2) _
20 +35 —~ 35+35(n-2)
D-M9CV 5 20 35 =2 4 60) (n=2,3,4,5-)
(n-2) -
15 +35 —~ 25+35(n-2)
D-AoLlV 5 15 2 (=246 (n=2,3,4,5.)
D-M9CIWV 10 20 5 20+ 35 (n%Z) 35+35(n-2)
D-MSLJAV (=2, 4,6-) (n=2,3,4,5-)
(n-2) _
D-C70 20 + 45 1 _2) 60 + 45 (n—2) MGJ
D-C80 5 2 60 n=2,4 60 (n=2,3,4,5-)
D-H70 _NZIGP
D-H7OW 10 25 70 25 +45 (n%Z) 70 +45 (n - 2)
D-H7BA (N=2,4,6-) (n=2,3,4,5-) MGP
D-H7NF
D-C73C (-2 MGPW
<) 80+50(n-2
D-C80C 5 30 80 30+50 _+2 3 (2 s )
D-H7C (nN=2,4,6-) (n=2,3,4,5) MGQ
D-B50
D-B64 25 + 50 (n%Z) 70+50 (n—-2) MGG
D-G50] 5 25 70 =246 (n=2,3,4,5.) |:
3
(n-2) 75+ 50 (n—2)
D-B59W 30 + 50 +
10 30 75 (=246 (n=2,3,4,5) MGF
Note 1) Auto switch mounting MGZ
With 2 auto switches
Different surfaces Same surface MGT

XO

5|5



Series MGC

Operating Range Auto Switch Mounting Bracket: Part No.
——— =
(mm)
. Bore size N Bore size (mm

Auto Switch model 20 (25 | 32 | 40 | 50 Auto Switch model 520 225 232 240 250
g—hﬁﬂéV[)\ll\(lIQDW(V) 5| 55| 5 55| 6.5 g:mgSW()V) Note 1) Note 1) Note 1) Note 1) Note 1)

-MOLIA(V) D-ASCI(V BMA3-020 | BMA3-025 | BMA3-032 | BMA3-040 | BMA3-050
D-A9C(V) 716 |8 |8 |8 -A9L(V)
D_B7DIBsO N Note 2) Note 2) Note 2) Note 2) Note 2)
D-B73C/B80C 8|10 | 9 110 |10 D-MSLIA(V) BMA3-020S | BMA3-025S | BMA3-032S | BMA3-040S | BMA3-050S
D-C7C1/C80 D-C7LI/C80
D-C73C/C80C glree e D-C73C/C80C
D-B5L/B64 810 | 9 |10 [10 g::;mw BMA2-020A | BMA2-025A | BMA2-032A | BMA2-040A | BMA2-050A
D-B59W 13 [13 [14 [14 [14 D-H7NF
D-G79/K79/K79C| 8 |10 | 9 |10 |10 D-H7BA
D-HTLVWHTLIW = | | y5) 5 | 6 D-B5L/B64/B59W
D-H7BA/H7NF D-G5CUKB9
D-H7C 7185 9 110 | 95 D-G5CIW/K59W BA-01 BA-02 BA-32 BA-04 BA-05
D-G5L/K59 D-G5BA/G59F
D-G50JW/K59W 4| 4 45| 5 6 D-G5NT/G5NB
D-G5NT/G5BA D-B7CUB80
D-G59F 515 16516 |7 D-B73C/B80C BM1-01 BM1-02 BM1-32 BM1-04 BM1-05
D-G5NB 35 |40 |40 [45 [45 D-G79/K79/K79C

= Since this is a guideline including hysteresis, not
meant to be guaranteed. (assuming approximate-
ly + 30% dispersion)
There may be the case it will vary substantially
depending on an ambient environment.

Note 1) Set part number which includes the auto switch mounting band (BM2-00OA) and the
holder kit (BJ5-1/Switch bracket: Transparent).
Since the switch bracket (made from nylon) are affected in an environment where alco-
hol, chloroform, methylamines, hydrochloric acid or sulfuric acid is splashed over, so it
cannot be used. Please consult SMC regarding other chemicals.

Note 2) Set part number which includes the auto switch mounting band (BMA2-OJOCJAS/Stainless
steel screw) and the holder kit (BJ4-1/Switch bracket: White).

Note 3) For the D-M9JA (V) type auto switch, do not install the switch bracket on the indicator
light.

[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit is available. Use it in Auto switch (1) BJO-1 is a set of “a”
accordance with the operating environment. and “b”.

(Since the auto switch mounting bracket is not included, order it BJ4-1 (Switch
separately.) bracket: White)
BBA3: For D-B5,B6,G5,K5 types BJ5-1 (Switch
BBA4: For D-C7,C80,H7 types bracket: Transparent)
Note 4) Refer to page 1989 for details on the BBA3. (2) BM2-OOOA(S) is a
The above stainless steel screws are used when a cylinder is set of “c” and “d".
shipped with the D-H7BA/G5BA auto switch. Band (c) is mounted
When an auto switch is shipped independently, BBA3 and so that the projected
BBA4 are included. part is on the internal
side (contact side
with the tube).

d
Auto switch
mounting screw

Auto switch mounting band

Besides the models listed in How to Order, the following auto switches are applicable.
Refer to pages 1893 to 2007 for detailed specifications.
(Please contact SMC for D-B7(1/B80, D-B73C/B80C, D-G79/K79, D-K79C.)

Type Model Electrical entry Features
D-C73, 76, B53, B73, B76 Grommet (In-iine)
Solid state auto switch D-C80, B80 Without indicator light
D-B73C

Connector (In-line)

D-B80C Without indicator light
D-H7A1, H7A2, H7B, G59, G5P, K59, G79, K79 Grommet (In-line)
D-K79C Connector (In-line)

Reed auto switch D-H7BW, H7NW, H7PW, G59W, G5PW, K59W Diagnostic indication (2-color indication)
D-H7BA Grommet (In-line) Water resistant (2-color indication)
D-G5NT With timer

+ For solid state auto switches, auto switches with a pre-wired connector are also available. Refer to pages 1960 and 1961 for details.
# Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H types) are also available. Refer to page 1911 for details.
* Wide range detection type, solid state auto switches (D-G5NB type) are also available. Refer to page 1953 for details.

. |

508

e |



Series MGC

Made to Order: Individual Specifications 1

Please contact SMC for detailed dimensions, specifications and lead times.

n With Piping Ports for Grease

This type is equipped with Rc 1/8 piping ports for grease on both sides of the guide body.

How to Order

MGC | Standard How to Order for each series |—X440

With piping port for greasel

Applicable series MGG MGC
. 20, 25, 32, 40, 50
Bore size (mm) 63, 80, 100 20, 25, 32, 40, 50

Fluid

Air

Minimum operating pressure

0.15 MPa (Horizontal, No load)

Piston speed

50 to 1000 mm/s \ 50 to 750 mm/s

Auto switch

Mountable

other than above

Same as the standard type

Dimensions (Dimensions other than those below are the same as the standard type.)

Series MGC
220 to 050 CcL 2 xRc 1/8
(Both sides)
W e G
pingro oL AH

"X Front mounting flange

(mm)
Series MGC
Bore size
(mm) CL

20 33
25 35
32 375
40 425
50 58.5

Symbol

-X440

+ The standard grease supply port has a hexagon socket head set screw.

509

q
NS =
L >
-

E

=S |N=|=
=IR=RES
o=

gggﬁ
oD
SN

XO

5|5



Series MGC

Be sure to read before handling.

Al

Specific Product Precautions

Refer to front matter 39 for Safety Instructions and pages 3 to 12 for
Actuator and Auto Switch Precautions.

\ Installations/Adjustment

/A Warning

.Installing a protective cover (In the case of rear
plate)

During mounting, handling and operation, the rear plate makes
reciprocating movements. Therefore, pay careful attention not to
insert your hand, etc., between the cylinder and the rear plate.
When you are going to fit this product to the outside of your
equipment, take preventative measures such as installing a
protective cover.

MGC Protective cover
installation example

-

510

A\ Caution

1

2,

W

Ey

(3}

o

.Use caution that no scratch or dent will be given to

the slide part of the guide rod.

Because the outer circumference of the guide rod is manufactured
with precise tolerances, even a slight deformation, scratch, or
gouge can lead to faulty operation or reduced durability.

When fitting the guide body, use the guide body
which has high flatness of the fitting surface.

If the guide rod has twisted, operation resistance will become
abnormally higher and the bearing will wear at an early stage,
thereby resulting in poor performance.

.Mount in locations where maintenance will be easy.

Ensure enough clearance around the cylinder to allow for
unobstructed maintenance and inspection work.

.Do not adjust the rod stroke by moving the rear

plates,

as doing so will cause the rear plates to come into direct contact
with the guide body or the bracket mounting bolt. The resulting
impact cannot be absorbed easily, the stroke position cannot be
maintained, and faulty operation may result.

. Lubrication

When you are going to oil the bearings, do so by using a nipple so
that no foreign matter will be mixed.

For the grease, we recommended using high-quality lithium soap-
based grease no. 2.

. Mounting orientation

For ceiling mounting (the opening of the rear plate is downward.),
the rear plate may interfere with the basic cylinder head end due to
the deflection of guide rods. Please consult with SMC.

Fixing of base cylinder

When the product is mounted and operated in a location with low
rigidity, bending moment may be applied to the base cylinder by
vibrations generated at the stroke end, causing damage to the
cylinder. In such cases, install a support bracket to suppress the
vibration of the body of the base cylinder or reduce the piston
speed until the body does not vibrate at the stroke end.



	Guide Cylinder/Compact Type Series MGC
	How to Order
	Model/Specifications/Theoretical Output
	Weight/Moving Parts Weight/Allowable Kinetic Energy
	Air-hydro
	Slide Bearing/Allowable End Load and Deflection
	Ball Bushing Bearing Allowable End Load and Deflection
	Slide Bearing Allowable End Load and Deflection
	Ball Bushing Bearing Allowable End Load and Deflection
	Allowable Eccentric Load
	Construction: With Rear Plate
	Dimensions
	Auto Switch Mounting
	Made to Order: Individual Specifications
	Specific Product Precautions



